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1. Which function has a greater rate of change between [0, 2)2

Unil 5 Review - Comparing and Contrasting Functions
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Write an equation that would model the table of values glven
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Determine if the following functions are even, odd or nelther.
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Scenario: Two friends, Fred and Barney, just purchased a dinosaur for $100,000. They cannot
agree on how to pay off their loan. After paying $20,000 to the Bedrock Dinosaur Dealership,
they decide to compare each other's pay-off plans before making a decision.

Fred's Plan: $80,000 remaining on the loan, reducing the loan by $5,000 each month

Barney's Plan: $80,000 remaining on the loan, reducing the loan by 25% each month

= Fred's Plan

18. Write a model for the situation. (4 points) 19. Write a m%ucﬁon. (4 poin’s)
\#: 0000 =5000x ka-. Bo000(.7 S)x.
20. Make a table of values for the data. 21. Make a table of values for the data.
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29. At ten months, how much will Fred's plan have left remaining?

$30 000
30. At ten months, how much will Barney's plan have left remaining?
4500

31. Which friend's plan has a greater average rate of change between [0, 3]2 8000 0 -3 750

PRep (-5000)  Banwey( =15 4i6.bT o-3

32. At what month will the two friend's plans have about the same amount remaining?

16

33. Which friend's plan will have the loan paid off faster? Briefly explain how you decided this.
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